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“PHYSICS”

01. In the following figure, the electric field lines
for charges q1 and q2 are shown. Identify the
sign of the charges :

q1

q2

(A)both negative
(B) upper charge is negative and lower is

positive
(C)both positive
(D)upper charge is positive and lower is

negative

02. Kirchhoff’s first and second laws for electrical
circuits are consequences of :

(A)conservation of electric charge and energy
respectively

(B) conservation of electric charge
(C)conservation of energy and electric charge

respectively
(D)conservation of energy

03. Dimensions of the magnetic moment M are :

(A)[M0AL—1T0] (B) [M0ALT0]

(C) [ML0T—2A—1] (D)[M0AL2T0]

04. A convex mirror has a focal length f. A real
object is placed at a distance f in front of it
from the pole, then it  produces an image at-

(A)Infinity (B) f

(C) f/2 (D)2f

“PHYSICS”

01. fn, x, fp= esa vkos'k q1 rFkk q2 ls fudyus okyh cy
js[kk,a iznf'kZr gSA vkos'kksa ds fpUg igpkuksa %

q1

q2

(A)nksuksa _.kkRed

(B) Åij okyk _.kkRed rFkk uhps okyk ËkukRed

(C)nksuksa ËkukRed

(D)Åij okyk ËkukRed rFkk uhps okyk _.kkRed

02. fo|qr ifjiFk ds fy, Kirchhoff’s ds izFke ,oa f}rh;
fu;e izfrikfnr djrs gS :

(A)Øe'k% fo|qr vkos'k dk laj{k.k rFkk ÅtkZ laj{k.k
(B) fo|qr vkos'k laj{k.k
(C)Øe'k% ÅtkZ dk laj{k.k ,oa fo|qr vkos'k laj{k.k
(D)ÅtkZ lja{k.k

03. pqEcdh; vk?kw.kZ M dh foek gksrh gS :

(A)[M0AL—1T0] (B) [M0ALT0]

(C) [ML0T—2A—1] (D)[M0AL2T0]

04. ,d mÙky niZ.k ftldh Qksdl nwjh f gSA blds lkeus
/kqzo ls f nwjh ij ,d oLrq j[kh gS] rks oLrq dk izfrfcEc
fuEu fLFkfr ij cusxk -

(A)vuUr (B) f

(C) f/2 (D)2f
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05. To an observer on the earth the stars appears
to twinkle. This can be ascribed to :

(A)The fact that stars do not emit light
continuosly

(B) Frequent absorption of star light by their
own atmosphere

(C)Frequent absorption of star light by the
earth's atmosphere

(D)The refractive index fluctuations in the
earth's atmosphere

06. A electric line carrying the current in south
direction then the direction of magnetic field
at above point is :

(A)In North (B) In East

(C) In West (D)none of these

07. When a wire loop is rotated in a magnetic
field, the direction of induced e.m.f. changes
once in each :

(A)1/4 revolution (B) 1/2 revolution

(C)1 revolution (D)2 revolution

08. A coil having 500 square loops each of side
10 cm is placed normal to a magnetic flux
which increases at the rate of 1.0 tesla/
second. The induced e.m.f. in volts is:

(A)0.1 (B) 0.5
(C)1 (D)5

09. When light rays are incident on a prism at
an angle of 45°, the minimum deviation is
obtained. If refractive index of the material
of prism is 2 , then the angle of prism will
be :

(A)30° (B) 40°

(C)50° (D)60º

05. iF̀oh ij fdlh izs{kd dks rkjs f>yfeykrs izrhr gksrs gSaA
blds ckjs esa dgk tk ldrk gS fd :

(A)rkjs lrr~ izdk'k mRlftZr ugha djrs gSA

(B) rkjksa ds izdk'k dk muds okrkoj.k }kjk ckj-ckj
vo'kks"k.k gksrk gSA

(C)rkjksa ds izdk'k dk i`Foh ds okrkj.k }kjk ckj-ckj
vo'kks"k.k gksrk gSA

(D)i`Foh ds okrkoj.k ds viorZukad esa mrkj p<+ko
(Fluctuations) gksrk gSA

06. ,d fo|qr 'kfä ykbZu esa /kkjk nf{k.k fn'kk esa cg jgh
gS rks blds Åij fLFkr fcUnq ij pqEcdh; {ks= dh fn'kk
gksxh  :

(A)mÙkj esa (B) iwoZ esa

(C)if'pe esa (D)buesa ls dksbZ ugha

07. tc ,d rkj dk ywi pqEcdh; {ks= esa ?kw.kZu djrk gS] rks
izsfjr fo|qr okgd cy dh fn'kk izR;sd ---------- esa ,d
ckj cny tkrh gS %

(A)1/4 ifjØe.k (B) 1/2 ifjØe.k

(C)1 ifjØe.k (D)2 ifjØe.k

08. 500 oxkZdkj ywi dh dq.Myh ftldh izR;sd Hkqtk
10 cm gS dks 1.0 tesla/second dh nj ls c<+rh gqbZ
pqEcdh; ¶yDl ds yEcor~ j[kk tkrk gSA oksYV esa izsfjr
fo-ok-cy gksxk :

(A)0.1 (B) 0.5
(C)1 (D)5

09. tc izdk'k dh fdj.k fizTe ij 45° dks.k ij vkifrr
gksrh gS] rc U;wure fopyu izkIr gksrk gSA ;fn fizTe ds

inkFkZ dk vkiorZukad 2  gks] rks fizTe dk dks.k gS :

(A)30° (B) 40°

(C)50° (D)60º
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10. A conducting wire is moving in a magnetic
field B towards the right. The direction of
induced current is as shown in the figure. The
direction of magnitic field will be :



B

v

(A)In the plane of paper pointing towards
right

(B) In the plane of paper pointing towards
left

(C)Perpendicular and downwards to the
plane of paper

(D)Perpendicular to the plane of paper and
upwards

11. A proton and an -particle enter a uniform
magnetic field at right angles to it with same
velocity. The time period of  particle as
compared to that of proton, will be :
(A)four times (B) two times

(C)half (D)one fourth

12. Two infinite linear charges are placed parallel
at 0.1 m apart. If each has charge density of
5 C/m, then the force per unit length of one
of linear charges in N/m is :
(A)2.5 (B) 3.25

(C)4.5 (D)7.5

13. Two points charges of +3C an and +9C repel
each other with a force of 27 N. If additional
charge of –3C is given to each of these charges,
then the new force of interaction will be :
(A)zero (B) 9 N
(C)18 N (D)2 N

10. pqEcdh; {ks=k B esa ,d pkyd rkj nka;h vksj py jgk
gSA mlesa izsfjr fo|qr /kkjk dh fn'kk fp= esa fn[kkbZ xbZ
gSA pqEcdh; {ks= dh fn'kk gksxh :



B

v

(A)dkxt ds ry esa nka;h vksj

(B) dkxt ds ry esa cka;h vksj

(C)dkxt ds ry ds yEcor~ uhsps dh vksj

(D)dkxt ds ry ds yEcor~ mij dh vksj

11. ,d izksVªkWu rFkk ,d d.k leku osx ls le:ih
pqEcdh; {ks= ds yEcor~ izos'k djrs gSaA d.k dk
ifjØe.k dky izksVkWu ds ifjØe.k dky dk gksxk :
(A)pkj xquk (B) nks xquk

(C)vk/kk (D)pkSFkkbZ

12. nks vuUr js[kh; vkos'kksa dks ijLij lekUrj 0.1 eh- nwjh
ij j[kk x;k gSA ;fn izR;sd ij vkos'k ?kuRo 5 ekbØks
dwykWe izfr ehVj gks rks fdlh ,d js[kh; vkos'k dh
bdkbZ yEckbZ ij cy dk eku U;wVu@eh- esa gksxk :
(A)2.5 (B) 3.25

(C)4.5 (D)7.5

13. +3C o +9C ds nks fcUnq vkos'k 27 U;wVu ds cy ls ,d
nwljs dh izfrdf"kZr djrs gSA ;fn nksuksa vkos'kksa dks –3C
dk vfrfjDr vkos'k fn;k tk,] rks muds eè; yxus
okyk u;k vU;ksU; fØ;k cy gksxk :
(A)'kwU; (B) 9 U;wVu
(C)18 U;wVu (D)2 U;wVu
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14. Two capacitors of capacity 6 F and 12 F in
series are connected by a source of 150 V. The
potential of capacitor of capacity 12 F will
be:
(A)25 V (B) 50 V
(C)100 V (D)150 V

15. Five identical lamps each having resistance
R = 1100  are connected to 220 V as shown
in figure. The reading of ideal ammeter (A)
is:

A

R RRRR220V

A

(A)
1

A
5

(B)
2

A
5

(C)
3

A
5

(D)1 A

16. Shown below is a distribution of charges. The
flux of electric field due to these charges
through the surface S is :

 
+q 

S 
+q 

+q 

(A)3q/0

(B) 2q/0

(C)q/0

(D)zero

17. Shown in the figure below is a meter-bridge
set up with null deflection in the
galvanometer. the value of the unknown
resistor R is :

20cm

G

55 R(A)13.75
(B) 220
(C)110
(D)55

14. 6 F rFkk 12 F ds nks lekUkkUrj IysV okys la/kkfj=ksa
dk Js.kh esa yxkdj ,d 150 oksYVrk ds L=ksr ls tksM+k
tkrk gSA 12 F ds la/kkfj= ds ,Øksl foHkokUrj gksxk:
(A)25 oksYV (B) 50 oksYV
(C)100 oksYV (D)150 oksYV

15. ikap ,d leku cYc ftuesa ls izR;sd dk izfrjksËk
R = 1100  gS 220 V ds L=ksr ls fp=kuqlkj tqM+s gSA
vkn'kZ vehVj dk ikB~;kad gksxk%

A

R RRRR220V

A

(A)
1

A
5

(B)
2

A
5

(C)
3

A
5

(D)1 A

16. fuEu fp= esa vkos'k forj.k iznf'kZr gSA bu vkos'kksa ds
dkj.k i`"B S ls xqtjus okyk fo|qr ¶yDl gS :

 
+q 

S 
+q 

+q 

(A)3q/0

(B) 2q/0

(C)q/0

(D)zero

17. uhps fp= esa Ëkkjkekih esa 'kwU; fo{ksi ds lkFk ehVj lsrq
dh izk;ksfxd O;oLFkk n'kkZ;h xbZ gSA vKkr izfrjksËk R
dk eku gS :

20cm

G

55 R

(A)13.75

(B) 220

(C)110

(D)55
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18. Calculate the capacitance between the points
P and Q in the following circuit :

1.5 F

1.5 F
3.0 F3.0 F

P Q

(A)1.5 F

(B) 3 F

(C)2 F

(D)1 F

19. A clock hung on a wall has marks instead of
numbers on its dial. On the opposite wall
there is a mirror, and the image of the clock
in the mirror if read, indicates the time as 8 :
20. What is the time in the clock :

(A)3 : 40 (B) 4 : 40

(C)5 : 20 (D)4 : 20

20. The flux lined with a coil at any instant ‘t’ is
given by  = 10t2 – 50t + 250. The induced
emf at t = 3s is :

(A)–190V (B) –10V

(C)10V (D)190V

“CHEMISTRY”

21. Which of the following conditions favours the
existence of a substance in the solid state?

(A)High temperature

(B) Low temperature

(C)High thermal energy

(D)Weak cohesive forces

22. Which of the following is not a characteristic
of a crystalline solid?

(A)Definite and characteristic heat of fusion.

(B) Isotropic nature.

(C)A regular periodically repeated pattern of
arrangement of constituent particles in the
entire crystal.

(D)A true solid

18. P rFkk Q ds eË; rqY; Ëkkfjrk gksxh%

1.5 F

1.5 F
3.0 F3.0 F

P Q

(A)1.5 F

(B) 3 F

(C)2 F

(D)1 F

19. ,d ?kM+h ,d fnokj ij Vaxh gSA blesa la[;k ds LFkku
ij fpUg gSA blds lkeus okyh nhokj ij ,d niZ.k gS]
vkSj tc ?kM+h ds le; dks niZ.k esa ns[kk tkrk gSa] rks ;g
8 : 20 gksrk gS] rks ?kM+h esa okLrfod le; D;k gS :

(A)3 : 40 (B) 4 : 40

(C)5 : 20 (D)4 : 20

20. fdlh dq.Myh ls lEc) ¶yDl {k.k ‘t’ ij fuEu izdkj
fn;k tkrk gS  = 10t2 – 50t + 250, izsfjr fo|qr
okgd cy t = 3s ij gS :

(A)–190V (B) –10V

(C)10V (D)190V

“CHEMISTRY”

21. fuEufyf[kr esa ls dkSulh ifjfLFkfr fdlh inkFkZ dh
Bksl voLFkk ds vfLrRo ds fy, vuqdwy gS?

(A)mPp rki (B) fuEu rki

(C)mPp Å"eh; ÅtkZ (D)nqcZy llatd cy

22. fuEufyf[kr esa ls dkSulk vfHky{k.k fØLVyh; Bksl dk
ugha gS?

(A)fuf'pr ,oa vfHky{kf.kd laxyu Å"ek

(B) lenSf'kd izÑfr

(C)lEiw.kZ fØLVy esa vo;oh d.kksa dh O;oLFkk dk ,d
fu;fer ,oa iqjkoÙ̀k iSVuZ

(D),d okLrfod Bksl
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23. The sharp melting point of crystalline solids
is due to :
(A)a regular arrangement of constituent

particles observed over a short distance
in the crystal lattice.

(B) a regular arrangement of constituent
particles observed over a long distance in
the crystal lattice.

(C)same arrangement of constituent particles
in different directions.

(D)different arrangement of constituent
particles in different directions.

24. Cations are present in the interstitial sites in :
(A)Frenkel defect
(B) Schottky defect
(C)Vacancy defect
(D)Metal deficiency defect

25. The edge lengths of the unit cells in terms of
the radius of spheres constituting fcc, bcc and
simple cubic unit cell are respectively :

(A)
4r

2 2r, ,2r
3

(B)
4r

,2 2r,2r
3

(C)
4r

2r,2 2r,
3

(D)
4r

2r, ,2 2r
3

26. Colligative properties depend on :
(A)the nature of the solute particles dissolved

in solution
(B) the number of solute particles in solution
(C) the physical properties of the solute

particles dissolved in solution
(D)the nature of solvent particles

27. Which of the following aqueous solutions
should have the highest boiling point?
(A)1.0 M NaOH (B) 1.0 M Na2SO4

(C)1.0 M NH4NO3 (D)1.0 M KNO3

23. fØLVyh; Bkslksa ds fuf'pr xyukad dk dkj.k gS :

(A)fØLVyh; tkyd esa vo;oh d.kksa dh fu;fer O;oLFkk
y?kq ijkl rd izsf{kr gksuk

(B) fØLVyh; tkyd esa vo;oh d.kksa dh fu;fer O;oLFkk
nh?kZijkl rd izsf{kr gksuk

(C) fofHkUu fn'kkvksa esa vo;oh d.kksa dh leku O;oLFkk

(D)fofHkUu fn'kkvksa esa vo;oh d.kksa dh fHkUu O;oLFkk

24. ___________ esa /kuk;u vUrjdk'kh LFky esa mifLFkr
gksrs gSaA

(A)Ýsadsy nks"k (B) 'kkWV~dh nks"k

(C) fjfDrdk nks"k (D)/kkrq U;wurk nks"k

25. fcc, bcc rFkk lkekU; ?kuh; ,dd dksf"Bdk esa xksyksa
dh f=T;k ds :i esa ,dd dksf"Bdk ds fdukjs dh
yEckbZ Øe'k% __________ gksrh gS :

(A)
4r

2 2r, ,2r
3

(B)
4r

,2 2r,2r
3

(C)
4r

2r,2 2r,
3

(D)
4r

2r, ,2 2r
3

26. v.kqla[; xq.k/keZ __________ ij fuHkZj djrs gSa :

(A)foy;u esa ?kqys foys; d.kksa dh izÑfr

(B) foy;u esa foys; d.kksa dh la[;k

(C) foy;u esa ?kqys foys; d.kksa ds HkkSfrd xq.kksa

(D)foyk;d ds d.kksa dh izÑfr

27. fuEufyf[kr esa ls fdl tyh; foy;u dk DoFkukad
mPpre gksuk pkfg, ?
(A)1.0 M NaOH (B) 1.0 M Na2SO4

(C)1.0 M NH4NO3 (D)1.0 M KNO3
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28. The values of Van’t Hoff factors for KCl, NaCl
and K2SO4, respectively, are :

(A)2, 2 and 2 (B) 2, 2 and 3

(C)1, 1 and 2 (D)1, 1 and 1

29. If two liquids A and B form minimum boiling
azeotrope at some specific composition then
:

(A)A-B interactions are stronger than those
between A-A or B-B

(B) vapour pressure of solution increases
because more number of molecules of
liquids A and B can escape from the
solution

(C)vapour pressure of solution decreases
because less number of molecules of only
one of the liquids escape from the solution

(D)A-B interactions are weaker than those
between A-A or B-B

30. 4L of 0.02 M aqueous solution of NaCl was
diluted by adding one litre of water. The
molality of the resultant solution is :

(A)0.004 (B) 0.008

(C)0.012 (D)0.016

31. The order of reactivity of following alcohols
with halogen acids is ________ .

a. CH3CH2 —CH2—OH

b. CH CH —3 2 CH—OH

CH3

c. CH CH —3 2 C—OH

CH3

CH3

(A)a > b > c (B) c > b > a

(C)b > a > c (D)a > c > b

28. KCl, NaCl vkSj K2SO4, ds okUVgkWQ dkjd ds eku
Øe'k% gSa :

(A)2, 2 and 2 (B) 2, 2 and 3

(C)1, 1 and 2 (D)1, 1 and 1

29. nks nzo A vkSj B ,d fof'k"V la?kVu esa U;wure DoFkukadh
fLFkjDokFkh cukrs gSa rc :

(A)A-B vU;ksU; fØ;k,¡ A-A vkSj B-B vU;ksU; fØ;kvksa
ls izcy gksrh gSa

(B) foy;u dk ok"inkc vf/kd gks tkrk gS] D;ksafd
yo;u esa ls nzo A vkSj B ds vf/kd v.kq iyk;u
dj ikrs gSa

(C) foy;u dk ok"inkc de gks tkrk gS D;ksafd nzoksa esa
ls dsoy ,d ds v.kq foy;u esa ls iyk;u djrs gSa

(D)A-B vU;ksU; fØ;k,¡ A-A vFkok B-B dh rqyuk esa
nqcZy gksrh gS

30. 0.02 M NaCl ds 4L tyh; foy;u dks ,d fyVj
ty feykdj ruqÑr fd;k x;kA ifj.kkeh foy;u dh
eksyyrk gS:

(A)0.004 (B) 0.008

(C)0.012 (D)0.016

31. fuEufyf[kr ,sYdksgkWyksa dh gSykstu vEyksa ds lkFk
vfHkfØ;k’khykrk dk Øe ________ gksxkA

a. CH3CH2 —CH2—OH

b. CH CH —3 2 CH—OH

CH3

c. CH CH —3 2 C—OH

CH3

CH3

(A)a > b > c (B) c > b > a

(C)b > a > c (D)a > c > b
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32. Which of the following alcohols will yield the
corresponding alkyl chloride on reaction with
concentrated HCl at room temperature?
(A)CH3CH2—CH2—OH

(B) CH CH —3 2 CH—OH

CH3

(C) CH CH —3 2 CH—CH OH2

CH3

(D) CH CH —3 2 C—OH

CH3

CH3

33. Which of the following is halogen exchange
reaction ?
(A)RX + NaI  RI + NaX

(B) C = C + HX C—C

H X

(C) 2ZnCl
2R OH HX R X H O    

(D)
CH3

+ X2
Fe

dark

CH3

X X

CH3

34. In which of the following molecules carbon
atom marked with asterisk {*} is asymmetric?

a. I

H

C* Cl
Br

b. I

D

C* Cl
Br

c. OH

H

C* CH3

C H2 5

d. H

H

C* CH3

C H2 5

(A)a, b, c, d (B) a, b, c
(C)b, c, d (D)a, c, d

32. fuEufyf[kr esa ls dkSulh ,sYdksgkWy d{k rki ij lkUnz
HCl ds lkFk vfHkfØ;k djds laxr ,sfYdy DyksjkbM
nsxh?
(A)CH3CH2—CH2—OH

(B) CH CH —3 2 CH—OH

CH3

(C) CH CH —3 2 CH—CH OH2

CH3

(D) CH CH —3 2 C—OH

CH3

CH3

33. fuEufyf[kr esa ls dkSulh vfHkfØ;k gSykstu fofue;
vfHkfØ;k gS?
(A)RX + NaI  RI + NaX

(B) C = C + HX C—C

H X

(C) 2ZnCl
2R OH HX R X H O    

(D)
CH3

+ X2
Fe

dark

CH3

X X

CH3

34. fuEufyf[kr esa ls fdl v.kq esa rkjkafdr {*} dkcZu
ijek.kq vlefer gS ?

a. I

H

C* Cl
Br

b. I

D

C* Cl
Br

c. OH

H

C* CH3

C H2 5

d. H

H

C* CH3

C H2 5

(A)a, b, c, d (B) a, b, c
(C)b, c, d (D)a, c, d
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35. What should be the correct IUPAC name for
diethylbromomethane?

(A)1-Bromo-1,1-diethylmethane

(B) 3-Bromopentane

(C)1-Bromo-1-ethylpropane

(D)1-Bromopentane

36. Glycogen is a branched chain polymer of -
D-glucose units in which chain is formed by
C1—C4 glycosidic linkage whereas
branching occurs by the formation of C1-C6
glycosidic linkage. Structure of glycogen is
similar to :

(A)Amylose (B) Amylopectin

(C)Cellulose (D)Glucose

37. Sucrose (cane sugar) is a disaccharide. One
molecule of sucrose on hydrolysis gives :

(A)2 molecules of glucose

(B) 2 molecules of glucose + 1 molecule of
fructose

(C)1 molecule of glucose + 1 molecule of
fructose

(D)2 molecules of fructose

38. Nucleic acids are the polymers of :

(A)Nucleosides (B) Nucleotides

(C)Bases (D)Sugars

39. Which of the following statements is not true
about glucose ?

(A)It is an aldohexose.

(B) On heating with HI it forms n-hexane.

(C) It is present in furanose form.

(D)It does not give 2,4-DNP test.

35. diethylbromomethane dk lgh IUPAC uke D;k
gS ?

(A)1-Bromo-1,1-diethylmethane

(B) 3-Bromopentane

(C)1-Bromo-1-ethylpropane

(D)1-Bromopentane

36. Xykbdkstu -D-Xywdksl bdkb;ksa ls cuk 'kkf[kr J̀a[kyk
cgqyd gksrk gSA ftlesa C1—C4 J̀a[kyk XykbdkslkbMh
caËk }kjk curh gS tcfd C1-C6 'kk[ku XykbdkslkbMh
ca/k }kjk gksrk gSA Xykbdkstu dh lajpuk ds leku
lajpuk okyk ;kSfxd gS :

(A),sfeyksl (B) ,sfeyksisfDVu

(C)lsyqyksl (D)Xywdksl

37. lwØksl (b{kq 'kdZjk) ,d MkblSdsjkbM gS ftldk ,d
v.kq tyvi?kVu ls _________ nsrk gS :

(A)Xywdksl ds nks v.kq

(B) Xywdksl ds nks v.kq + ÝDVkst dk ,d v.kq

(C) Xywdksl dk ,d v.kq + ÝDVkst dk ,d v.kq

(D)ÝDVkst ds nks v.kq

38. U;wfDyd vEy fdlds cgqyd gksrs gSa :

(A)U;wfDyvkslkbMksa ds (B) U;wfDyvksVkbMksa ds

(C) {kkjksa ds (D)'kdZjkvksa ds

39. Xywdksl ds laca/k esa fuEufyf[kr esa ls dkSulk dFku lgh
ugha gS ?

(A);g ,d ,sYMksgSDlksl gS

(B) HI ds lkFk xje djus ij ;g n-gsDlsu nsrk gS

(C);g ¶;wjsuksl :i esa mifLFkr jgrk gS

(D)bldk 2,4-DNP ijh{k.k ldkjkRed ugha gksrk
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40. Which of the following bases is not present
in DNA ?

(A)Adenine (B) Thymine

(C)Cytosine (D)Uracil

“BIOLOGY”

41. Sporopollenin is found in :

(A)Exine (B) Intine

(C)Cytoplasm (D)Nucleus

42. In a type of apomixis known as adventive
embryony, embryos develop directly from
the:

(A)Nucellus or integuments

(B) Synergids or antipodals in a embryo sac

(C)Accessary embryo sacs in the ovule

(D)Zygote

43. Perisperm differs from endosperm in :

(A)having no reserve food

(B) being a diploid tissue

(C) its formation by fusion of secondary
nucleus with several sperms

(D)being a haploid tissue

44. A couple belived that they have brought the
wrong baby home from the hospital. The wife
is of blood group O, her husband of group B
and child of group O. Could baby be theirs ?

(A)Chances are 50% (B) Chances are 25%

(C)Chances are 100%(D)Chances are 75%

40. DNA esa fuEufyf[kr esa ls dkSulk {kkj mifLFkr ugha
gksrk ?

(A),sMsuhu (B) Fkk;ehu

(C)lkbVkslhu (D);wjsfly

“BIOLOGY”

41. Liksjksiksysfuu feyrk gS :

(A)ck/;pksy esa (B) vUr%pksy esa

(C)dksf’kdk æO; (D)dsUæd esa

42. vlaxtuu (apomixis) ds ,d izdkj tks viLFkkfud
Hkzw.krk dgykrk gS] esa Hkzw.k lh/ks fodflr gksrk gS :

(A)chtk.Mdk; vFkok v/;koj.k ls

(B) fdlh Hkzw.kdks"k esa lgk;d dksf'kdkvksa ;k izfreq[k
dksf'kdkvksa ls

(C)chtk.M esa lgk;d Hkzw.kdks"k ls

(D);qXeut ls

43. ifjHkwz.kiks"k] Hkzw.kiks"k ls dSls fHkUu gS :

(A)blesa lafpr Hkkstu u gksuk

(B) bldk f}xqf.kr mÙkd gksuk

(C) f}rh;d dsUnzd ds lkFk vusd 'kqØk.kqvksa ds la;ksftr
gksus ls bldk cuuk

(D)bldk vxqf.kr mÙkd gksuk

44. fdlh nEifr dks ,slk yxrk gS fd og vLirky ls xyr
cPps dks ?kj ys vk, gSaA iRuh dk jDr oxZ 'O' gS vkSj
ifr dk jDr oxZ 'B' gSA cPps dk jDr oxZ 'O' gSA D;k
;g cPpk mUgha dk gks ldrk gSA

(A)50% chances (B) 25% chances

(C)100% chances (D)75% chances
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45. A homozygous red eyed female was mated
with white eyed male; a daughter from F1
generation was also mated with white-eyed
male. In the progeny from this second mating
(A)All males and females have red eyes
(B) All males and females hav white eyes
(C)All males have red eyes; all females have

white eyes
(D)males and females have red eyes and

white eyes in the ratio of 1 : 1

46. Expected children of a blue eyed (recessive)
woman and brown eyed (dominant) man
who had a blue eyed mother are likely to be :
(A)all brown eyed
(B) all blue eyed
(C)one blue eyed and one brown eyed
(D)three blue eyed and one brown eyed

47. Point mutation involves :
(A)Change in single base pair
(B) Duplication
(C)Deletion
(D)Insertion

48. The length of a helix of DNA is :
(A)10 Å (B) 20 Å
(C)30 Å (D)34 Å

49. A DNA molecule in which both strands have
radioactive thymidine is allowed to duplicate
in an environment containing non-
radioactive thymidine. What will be the
correct number of DNA molecules that
contain some radioactive thymidine after
three duplications :
(A)There will be four such molecules
(B) There will be eight such molecules
(C)There will be only one such molecule
(D)There will be two such molecules

45. ,d letkr yky vka[k okyh eknk dk ladj.k 'osr
vka[k okys uj ls djk;k tkrk gS rFkk F1 ih<+h esa izkIr
iq=h dk ladj.k Hkh 'osr vka[k okys uj ls djk;k tkrk
gS blds f}rh; ladj.k esa vkus okyh larkus gksaxh :
(A)lHkh uj rFkk eknk yky vka[k okys gksaxs
(B) lHkh uj rFkk eknk 'osr vka[k okys gksaxs
(C)lHkh uj yky vka[k okys rFkk lHkh eknk;sa 'osr

vk[kksa okyh gksaxh
(D)uj rFkk eknk esa yky rFkk 'osr vka[k dk 1 : 1

vuqikr gksxk

46. ,d Hkwjh vk¡[k ¼izHkkoh½ okyk O;fDr ftldh ekrk dh
vk¡[kksa dk jax uhyk Fkk] dk fookg uhyh vk¡[k ¼vizHkkoh½
L=h ds lkFk gksrk gS] rks mldh larfr gksxh :
(A)lHkh Hkwjh vk¡[kksa okyh
(B) lHkh uhyh vk¡[kksa okyh
(C),d uhyh rFkk ,d Hkwjh vk¡[kksa okyh
(D)rhu uhyh rFkk ,d Hkwjh vk¡[kksa okyh

47. fcanq mRifjorZu esa D;k varfuZfgr gksrk gS ?
(A),dy csl tksM+s esa ifjorZu gksuk
(B) vuqfyfidj.k
(C)yksiu ¼ckgj fudky fn;k tkuk½
(D)fuos'k ¼Hkhrj Mky fn;k tkuk½

48. DNA ds ,d gSfyDl dh yEckbZ gksrh gS :
(A)10 Å (B) 20 Å
(C)30 Å (D)34 Å

49. DNA dk v.kq ftlds nksuksa lw=ksa esa jsfM;ks,fDVo
Fkk;fefMu gS] dks ;fn ukWu&jsfM;ks,fDVo Fkk;fefMu ds
okrkoj.k esa f}dj.k djus fn;k tk;s rks rhu ckj f}dj.k
ds i'pkr~ ,sls DNA ds v.kqvksa dh lgha la[;k D;k
gksxh ftlesa FkksM+k jsfM;ks,fDVo Fkk;fefMu ik;k tkrk
gks :
(A),sls pkj v.kq gksaxs
(B) ,sls vkB v.kq gksaxs
(C)dsoy ,d gh ,slk v.kq gksxk
(D),sls nks v.kq gksaxs
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50. What is meant by degenerate code :

(A)One amino acid is coded by one code

(B) One amino acid can be coded by more
than one code

(C)One code controls one code

(D)One code can control more than one
amino acid

51. Which stage get formed in uterus only?

(A)Morula

(B) Blastocyst

(C)Blastomere

(D)All of the above

52. Trophoblast is outer layer of :

(A)Morula (B) Blastula

(C)Gastrula (D)Placenta

53. Which hormones starts rising soon after
ovulation?

(A)Estrogen (B) Progesteron

(C)LH (D)FSH

54. MTP is considered safe up to :

(A)16 weeks only (B) 8 weeks only

(C)12 weeks only (D)24 weeks only

50. fMtsusjsV dksM dk D;k vFkZ gksrk gS :
(A),d vehuks vEy dks ,d gh dksM }kjk fu;af=r

fd;k tkrk gS
(B) ,d vehuks vEy dks ,d ls vf/kd dksM }kjk

fu;af=r fd;k tkrk gS
(C),d dksM }kjk ,d vehuks vEy fu;af=r fd;k

tkrk gS
(D),d dksM }kjk ,d ls vf/kd vehuks vEyksa dks

fu;af=r fd;k tkrk gS

51. fuEu esa ls dkSulh voLFkk flQZ xHkkZ'k; esa fufeZr gksrs
gS?

(A)rwrd (Morula)

(B) dksjdiqVh (Blastocyst)

(C)dksjd [k.M (Blastomere)

(D)mijksDr lHkh

52. iks"kdksjd fdldk ckgjh ijr gS :

(A)rwrd (B) dksjd iqVh

(C)dUnqd (D)vijk

53. vaMksRlxZ ds rqjar ckn fdl gkWeksZu dk Lrj c<+us yxrk
gS?

(A),LVªkstu (B) izkstsUVªku

(C)LH (D)FSH

54. MTP dks lqjf{kr ekuk tkrk gS :

(A)16 lIrkg rd (B) flQZ 8 lIrkg rd

(C) flQZ 12 lIrkg rd (D)flQZ 24 lIrkg rd
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55. Recongnize the given figure and select the
correct statement :

(a) This is most widely accepted method of
contraceptive

(b) This is 100% reliable method of
contraceptive

(c) It is made up of plastic

(d) It is reusable

(A)a, b, c, d (B) a, c

(C)a, b, c (D)None of the above

56. Given figure is diagrammatic sectional view
of mammary gland. What is A, B, C & D :

C

D

A

B

55. fn, x, fp= dks igpkus rFkk lgh dFku dk p;u djsa:

(a) ;t tuu fu;a=.k dk lokZf/kd iz;qDr gksus okyk
fof/k gS

(b) ;g tuu fu;a=.k dk 100% fo'ouh; fof/k gS

(c) ;g IykfLVd dk cuk gS

(d) bldk iqu% mi;ksx laHko gS

(A)a, b, c, d (B) a, c

(C)a, b, c (D)mijksDr esa ls dksbZ ugha

56. fn;k x;k fp= ekuo ds Lru xzfUFk dk fp= gSA A, B,
C & D D;k gS ?

C

D

A

B
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(A)A = ampulla,

B = mammary alveolus,

C = areola,

D = Lactiferous duct

(B) A = mammary alveolus,

B = ampulla,

C = alveolus,

D = Lactiferous duct

(C)A = alveolus,

B = mammary gland,

C = ampulla,

D = Lactiferous duct

(D)none of the above

57. If secondary spcmatocyte have 32
chromosome how many chromosome will be
present in a spermatid ?

(A)16 (B) 8

(C)32 (D)4

58. LH surge is a condition when :

(A)Level of LH is minimum

(B) Level of LH is maximum

(C)Level of LH is moderate

(D)None of these

59. Menstrual cycle have duration of 28 to 32
days, which period is considered fertile period
:

(A)14th to 17th day of menstrual cycle
(B) 10th to 17th day of menstrual cycle
(C)18th to 24th day of menstrual cycle
(D)5th to 14th day of menstrual cycle

(A)A = ,Eiqyk (ampulla),

B = Lruh ,yfo;ksyl (mammary alveolus),

C = ,sfj;ksyk (areola),

D = ySDVhQsjl ufydk (Lactiferous duct)

(B) A = Lruh ,yfo;ksyl (mammary alveolus),

B = ,Eiqyk (ampulla),

C = dwfidk (alveolus),

D = ySDVhQsjl ufydk (Lactiferous duct)

(C)A = dwfidk (alveolus),

B = Lru xzfUFk (mammary gland),

C = ,Eiqyk (ampulla),

D = ySDVhQsjl ufydk (Lactiferous duct)

(D)buesa ls dksbZ ugha

57. vxj f}rh; LiesVkslkbZV esa 32 xq.klw= gS] rks LiesfVM
esa fdrus xq.kllw= mifLFkr gksaxs ?

(A)16 (B) 8

(C)32 (D)4

58. LH surge og n'kk gS :

(A)LH dk Lrj U;qure

(B) LH dk Lrj vf/kdre

(C)LH dk Lrj e/;e gksrk gS

(D)mijksDr esa ls dksbZ ugha

59. ekuo esa vkrZo (menstrual) pØ dh vof/k 28 ls 32
fnuksa dk gksrk gS] buesa ls dkSuls fnol (dky) dks
fu"ksP; dky (fertile period)  ekuk tkrk gS ?

(A)14th to 17th day of menstrual cycle
(B) 10th to 17th day of menstrual cycle
(C)18th to 24th day of menstrual cycle
(D)5th to 14th day of menstrual cycle
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60. STD ds lgh tksM+s dk p;u djsa] ftldk bykt lEHko
ugha gS :

(A)gsisVkbfVl-B, flQfyl (syphilis)

(B) HIV, xksuksfj;k (gonorrhoea)

(C)tsukbVy gfiZl (genital herpes),

gsisVkbfVl-B

(D)HIV, Vªkbdkseksfu;fll (Trichomoniasis)

60. Which of the following set of STD is not
curable at all :

(A)Hepatitis-B, Syphilis

(B) HIV, Gonorrhoea

(C)genital herpes, Hepatitis-B

(D)HIV, Trichomoniasis




